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QUESTION 1

A user is able to remove virtual machines from their Items tab but the user is unable to remove an entire deployment.
What would explain this behavior?

A. The user has had their entitlement to the deployment removed.

B. The user is missing the Destroy Deployment action on their entitlement.

C. The lease to the deployment has expired.

D. The user is missing the Destroy Deployment action on their service.

Correct Answer: B

QUESTION 2

What is required before an XaaS blueprint can add a user to Active Directory?

A. The Active Directory domain has been added to the VMware Identity Manager.

B. A vRealize Orchestrator Plug-In for Active Directory as an endpoint.

C. A custom property that links the blueprint to Active Directory.

D. The tenant administrator has added the Active Directory domain to the list of Directories.
Correct Answer: B

Reference: https://docs.vmware.com/en/vRealize-Automation/7.3/com.vmware.vra.prepare.use.doc/GUID-
B96552A1871E-4B23-9EB0-18FD3CF7FDB1.html

QUESTION 3

In a multisite environment, vRealize Automation is deployed in Site A and will be provisioning virtual machines through
the vCenter server in Site B.

Which action would improve data collection performance?
A. Install DEM Workers to Site B.

B. Install Proxy Agent in Site B.

C. Install DEM Workers to Site A.

D. Install Proxy Agent in Site A.

Correct Answer: B

When agents are installed in the same data center as their associated endpoint, you can see an increase in data

Latest 2V0-731 Dumps | 2V0-731 Study Guide | 2V0-731 Braindumps 2/4


https://www.passapply.com/2v0-731.html
https://www.passapply.com/2v0-731.html
https://www.passapply.com/2v0-731.html

VCE & PDF https://lwww.passapply.com/2v0-731.html
2024 Latest passapply 2V0-731 PDF and VCE dumps Download
PassApply.com

collection performance of 200 percent, on average. The collection time measured includes only the time spent
transferring data between the proxy agent and the manager service.

QUESTION 4

Which option would explain why an error message is displayed when the vRealize Automation Software architect
attempts to add the Load Init Data software component?
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A. The software component has syntax errors.
B. The software component is NOT published.
C. The software component\\'s container is NOT properly defined.

D. The software component action has an incorrect script type.

Correct Answer: C

QUESTION 5

What is one reason snapshots would NOT be available in the Clone from snapshot window when using the Linked
Clone build Action?

A. The source virtual machine should be a virtual machine template.
B. The source virtual machine has multiple snapshots.
C. Data collection must be run for the vSphere Endpoint to retrieve the snapshot information.

D. Data collection must be run for the Compute Resource to retrieve the snapshot information.
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Correct Answer: D

Reference: https://docs.vmware.com/en/vRealize-
Automation/7.5/com.vmware.vra.prepare.use.doc/GUID-6D6622E2984E-4716-9414-E6ECD1BDD4D3.html https://docs.
vmware.com/en/vRealize-Automation/7.4/com.vmware.vra.prepare.use.doc/GUID-FC7B23FD28B0-413A-
AD3C-55488B534DOE.html
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